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      M.M.-60
(4 mark Question) 
1. Let T be the set of all triangles in a plane with R as a relation in T given by R = { (T1,T2) : T1 is congruent with T2 } , show that R is an equivalence relation.

2. Prove that:
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     OR

   Prove that: sin-1(4/5) + sin-1(5/13) + sin-1(16/65) = π / 2                                      

3. Find the coordinates of the foot of the perpendicular from the point (1, 1, and 2) to the plane                2x – 2y + 4z + 5 = 0.

4. Find the particular solution satisfying the given condition for the following differential equation: 
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5.
Form the differential equation representing the family of curves given by (x– a)2 + 2y2 = a2, where a is an arbitrary constant.

6
Prove that 
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7
Two cards are drawn successively with replacement from a well shuffled deck of 52 cards. Find the probability distribution of number of aces.  OR


A problem in mathematics is given to 3 students whose chances of solving it are 1/2, 1/3, 1/4 What is the probability that the (i) problem is solved (ii) exactly one of them will solve it? 

8.    Show that the function 
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is discontinuous at x =0

9
If x = a sinpt and y = b cospt , find the value of d2y/dx2 at t = 0             OR

        If y = (tan-1x)2 , show that (x2 + 1)2y2 + 2x(x2 +1) y1=2 

10
Evaluate: 
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             OR          Evaluate: 
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11. Find the intervals in which the function f(x) = sin3x, 
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is increasing or decreasing.
12.Find the equation of the normal to the curve y = x3 + 2x + 6 which are parallel to the line x+14y + 4= 0 

13. Find the equation of plane which is perpendicular to the plane 
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and which      
      contains the line of intersection of the plane 
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14. Three vectors 
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. OR
      Find area of triangle having the points 
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as its vertices.

15. Evaluate : 
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